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1. FERH TERE T Fr 9 (infix notatmn}ﬁ'r‘& » (7%)
(a) +-*$ABCD//EF+GH
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2. FHFIH-F3EE (Kamaugh map) (LA FFIXF - (8%)

SW,X,Y,Z) =3 (4,6,7,12,14)

3. BATBILATEI=ME 1 » sk (—29) Y 6-bit BTk « (6%)
(a) sign/magnitude :
(b) two’s complement :
(c) one’s complement :

4. What is the function of a router? (4%)

5. Musta WAN include other networks, such as LANs that have been tied together?
(4%)

6. What does the term Topology mean? (4%}
7. Describe the role of a hub in a star network. (4%)
8. What does a modem do during its two phases of operation? (4%)

9. Why is it possible to build an office automation system from off-the-shelf
applications instead of using customized software? (4%)

10. What is the role of programmers in an IS department? (4%)

11. What kinds of systems support ActiveX applets? (4%)



|2. What are the five phases of the systems development life cycle for programming?
(4%)

13. What is the difference between syntax errors and logic errors in software? (4%)
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(2) P95 (Hanoi Tower) ik FFIRE - A OERE T B0 (b) A &5 -

(3) 10FEFHILL Bubble Sort 5iAHEF + EOERSLLHABIES (o) -
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(1) XML
(2) GPRS
(3) DBA
(4) WML
(5) ERP
{6) X5L
(7) Dead lock
(8) Frame Relay



